

# Differentiation Techniques

Math 2413  
Dr. Kennedy  
5 Feb 2019  
pg 17

- Recall:
- 1)  $D[c] = 0$
  - 2)  $D[x^n] = nx^{n-1}$ ,  $n \in \mathbb{R}$ ,  $x^n$  defined.
  - 3)  $D[cf(x)] = c D[f(x)]$ ,  $c$  a constant
  - 4)  $D[f(x) \pm g(x)] = [D(f(x))] \pm [D(g(x))]$
  - 5)  $D[f(x)g(x)] = [D(f(x))]g(x) + f(x)[D(g(x))]$
  - 6)  $D\left[\frac{f(x)}{g(x)}\right] = \frac{D[f(x)]g(x) - f(x)D[g(x)]}{(g(x))^2}$

Find derivative of  $\sin(x)$  - Assume  $\lim_{h \rightarrow 0} \frac{\sin(h)}{h} = 1$

$$D[\sin(x)] = \lim_{h \rightarrow 0} \frac{\sin(x+h) - \sin(x)}{h} \stackrel{*}{=} \lim_{h \rightarrow 0} \frac{1}{h} [\sin(x)\cos(h) - \sin(h)\cos(x) - \sin(x)]$$

\*  $\sin(x \pm y) = \sin(x)\cos(y) \pm \sin(y)\cos(x)$

\*  $x$  is a constant here since  $h$  is the one changing

$$= \lim_{h \rightarrow 0} \left[ \frac{\sin(x)\cos(h) - \sin(x)}{h} \right] + \lim_{h \rightarrow 0} \left[ \frac{-\sin(h)\cos(x)}{h} \right]$$

\*  $\cos^2(x) + \sin^2(x) = 1$

$$= \sin(x) \lim_{h \rightarrow 0} \left[ \frac{\cos(h) - 1}{h} \right] + \cos(x) \lim_{h \rightarrow 0} \left[ \frac{-\sin(h)}{h} \right]$$

$$= \sin(x) [0] + \cos(x) [1] = \boxed{\cos(x)} = D[\sin(x)]$$

\*\*\*

$$\begin{aligned} \lim_{h \rightarrow 0} \left( \frac{\cos(h) - 1}{h} \right) \left( \frac{\cos(h) + 1}{\cos(h) + 1} \right) &= \lim_{h \rightarrow 0} \frac{\cos^2(h) - 1}{h(\cos(h) + 1)} = \lim_{h \rightarrow 0} \frac{\sin^2(h)}{h(\cos(h) + 1)} \\ &= \lim_{h \rightarrow 0} \left( \frac{\sin(h)}{h} \right) \left( \frac{-\sin(h)}{\cos(h) + 1} \right) = \left[ \lim_{h \rightarrow 0} \frac{\sin(h)}{h} \right] \cdot \left[ \lim_{h \rightarrow 0} \frac{-\sin(h)}{\cos(h) + 1} \right] \\ &= (1) \left( \frac{0}{2} \right) = 0 \end{aligned}$$

$$\Rightarrow \frac{d}{dx} [\sin(x)] = \cos(x)$$

$$\frac{d}{dx} [\cos(x)] = -\sin(x)$$

$$D[\tan(x)] = D\left[\frac{\sin(x)}{\cos(x)}\right] = \frac{D[\sin(x)]\cos(x) - \sin(x)D[\cos(x)]}{\cos^2(x)} = \frac{\cos(x)\cos(x) - \sin(x)(-\sin(x))}{\cos^2(x)}$$

$$= \frac{\cos^2(x) + \sin^2(x)}{\cos^2(x)} = \frac{1}{\cos^2(x)} = \sec^2(x)$$

$$D[\cot(x)] = D\left[\frac{\cos(x)}{\sin(x)}\right] = \dots = -\csc^2(x)$$

# Differentiation Techniques

Math 2413  
Dr. Kennedy  
5 Feb 2019  
pg 18

$$D[\sec(x)] = D\left[\frac{1}{\cos(x)}\right] = \frac{0 \cdot \cos(x) - 1 \cdot (-\sin(x))}{\cos^2(x)} = \frac{\sin(x)}{\cos^2(x)} = \frac{\sin(x)}{\cos(x)} \cdot \frac{1}{\cos(x)}$$

$$D[\csc(x)] = \dots = -\csc(x)\cot(x) = \tan(x)\sec(x)$$

Ex. Find  $f'(x)$ :

$$\left\{ \begin{aligned} f(x) &= \frac{\sec(x)}{1 + \tan(x)} \\ f'(x) &= \frac{D[\sec(x)](1 + \tan(x)) - \sec(x)D[1 + \tan(x)]}{(1 + \tan(x))^2} \\ &= \frac{\sec(x)\tan(x)(1 + \tan(x)) - \sec(x)(0 + \sec^2(x))}{(1 + \tan(x))^2} = \frac{\sec(x)(1 + \tan(x)) - \sec^3(x)}{(1 + \tan(x))^2} \end{aligned} \right.$$

$$f(x) = \cos(x)\cot(x)$$

$$\begin{aligned} f'(x) &= D[\cos(x)]\cot(x) + \cos(x)D[\cot(x)] \\ &= -\sin(x)\cot(x) + \cos(x)(-\csc^2(x)) \end{aligned}$$